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fi] i — 4%

// ConsoleApplication3.cpp :

/1

#include "stdafx.h"

#include<iostream>
#include<cstdio>
#include<map>
#include<list>
#include<set>
#include<algorithm>
#include<string>
#define LL __ int64
#define INF 99999999
using namespace std;
const int N =31;

int start;

FILE * fp;
double year, times;

string provinceName[N];

— KE5

SE P 6 NIRRT R

/I B2 FEA

string jd_ProvinceName[N][N]; /44 )35 i 44 7402
double dist Province To Province[N][N]; /44 2 2 8] I #E 25
double cost Province To Province[N][N]; /% Z [a] KA

double dist In Province[N][N][N]; /i 2 P 5 i u Bt v EE S
double cost_In_Province[N][N][N];

double jd_Time[N][N]; /It i 41 j 5% m T e 22 IR I []
double province_Time[N]; /il 5¢ 1 48 FT A S s BT 75 22 1 I [A]

bool isOO[N][N][N]; // A& %M 90km/h SRl 38 f& 14 [ 40km/h 111

int order_City[N][N1; /&8 X 5% s (1 RV U
int jd_ProvinceNum([N]; /i 8 H Z /DA 5

ITNE A T5 B

void load Province And Jd Name Info()

{
int i, j;
for 1=0; i <N;it++)
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cin >> provinceNameli];
for (j = 0;j <30; j++)

{
cin >> jd_ProvinceName[i][j];
if (jd_ProvinceName[i][j] == "-1") break;
}
jd_ProvinceNum[i] = j;
H
}
k= 4:E0
void load_distOfProvincelnfo()
{
int1, j, k;
1178 2= Z IRV B S
for (i=0;1<N;it+)
{
for j = 0;j <=1; j++)
{
scanf("%]lf", &dist Province To Province[i][j]);
dist Province To Province[j][i] = dist_Province To Province[i][j];
}
H
}

/AFENE x SRR A u->v A
void get Cost(int x)

{
for (int i = 0; 1 < jd_ProvinceNum][x]; i++)
{
for (int j = 0; j <jd_ProvinceNum[x]; j++)
{
if (i==))
{
cost_In_Province[x][i][j] = 0; continue;
H
if (dist_In_Province[x][i][j] <= 3)cost_In_Province[x][i][j] = jd_Time[x][j];
else if (dist In Province[x][i][j] <= 5)cost_In_Province[x][i][j] = 0.5 + jd_Time[x][j];
else cost In Province[x][i][j] =1 +jd_Time[x][j];
h
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}

int xx = 0;
}
/1% A8 P T R A i
void floyd(int x)
{

for (int k = 0; k <jd_ProvinceNum[x]; k++)

{

for (int 1= 0; 1 <jd_ProvinceNum[x]; i++)

if (dist_In_Province[x][i][j]>dist_In_Province[x][i][k] + dist_In Province[x][k][j])

dist_In_Province[x][i][j] = dist_In_Province[x][i][k] + dist_In_Province[x][k][j];

{
for (int j = 0; j <jd_ProvinceNum|[x]; j++)
{
if (i ==k || j == k)continue;
H
}
H
int xx = 0;
}
JHERE x HLIHI
void travle In Province(int x)
{
int i;
bool s[30];

for (i=0;1<30; i++)s[i] = 0;
intu=jd ProvinceNum[x] -1, v=-1;
int order kk = 0;
while (order kk <jd ProvinceNum[x])
{
order_City[x][order kk++]=u;
sfu] = 1;
for (1 = 0; i< jd_ProvinceNum|[x] - 1; i++)
{

if (u ==1i)continue;

if  (Is[i] && (v<O0 || cost In Province[x][u][i]

(cost_In_Province[x][u][i] ==
dist In_Province[x][u][v]>dist In_Province[x][u][i])))

{

V=1
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v,
_1,

< & -
|

H

order City[x][order kk++]=jd ProvinceNum([x] - 1;

double sum = 0;

string fname = "E:\\redep\if 78 £ TAEWEUBE\A N 5% 2(\" + provinceName[x] + ".txt";

FILE * tp;

tp = fopen(fname.c_str(), "w+");

fprintf(tp, "VH FEHS [A](R) o R Hh 17 21 1] (h)
ITHEEBR(AHR) i W X \n");

for (i=1;1<order kk;it++)
(IHR M TR, AT R, PR RIX
int u = order_City[x][i- 1], v=order_City[x][i];
double dis = i1s90[x][u][v] ? dist_In_Province[x][u][v] * 90 : dist In_Province[x][u][v] * 40;
fprintf(tp, "%-20.11f %-20s %-20.11f %-20.11f %-20s\n",
cost_In_Province[x][u][V], jd_ProvinceName[x][u].c_str(), dist In_Province[x][u][V], dis,
jd_ProvinceName[x][Vv].c_str());

printf("%d --> %d TE%: %21f K ATERE: %21f N TN B %21fkm \n",
order city[i - 1] + 1, order city[i] + 1, edge[order city[i - 1]][order city[i]], dist[order city[i -
1]][order_city[i]], dist[order city[i - 1]][order_city[i]] * 90);

sum += cost_In_Province[x][order City[x][i - 1]][order City[x][i]];

H
felose(tp);

province Time[x] = sum;

void load_And solve Jd Info()
{
inti, j, k;
for (i=0;1<N;it+)
{
int Xxx;
scanf("%d", &xxx);
for (j = 0; j <jd_ProvinceNum[i]; j++)

{
scanf("%lIf", &jd_Time[i][j]);
}
for (j = 0; j < jd_ProvinceNum[i]; j++)
{
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for (k = 0; k <jd_ProvinceNum][i]; k++)

{
scanf("%lf", &dist_In Province[i][j][k]);
if (dist_In_Province[i][j][k] <= 40)
{
dist_In_Province[i][j][k] /= 40;
1s90[1][j][k] = false;
}
else
{
dist_In_Province[i][j][k] /= 90;
1s90[1][j][k] = true;
}
H
}
int xx = 0;
floyd(i);

get_Cost(i);
travle In_Province(i);

}

int xx = 0;

void floyd dist Province To Province()
{
for (int k = 0; k <N; k++)
{
for (int1=0; 1 <Nj; i++)
{
for (int j = 0; j <N; j++)
{
if (i ==k || j == k)continue;
if  (dist_ Province To Province[i][j]
dist Province To Province[k][j])
dist Province To Province[i][j]
dist Province To Province[k][j];

H
h
H
for (inti=0; i <N; i++)
{

for (intj=0; j <N; j++)
{

if (1 == j)continue;
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cost Province To Province[i][j] = dist Province To Province[i][j] / (90 * &) +
province Time[j];
dist Province To Province[i][j] /= (90 * 8);

}
H
}
void solve Province And Jd Info()
{
load Province And Jd Name Info();
load_distOfProvincelnfo();
load And solve Jd Info();
floyd dist Province To Province();
}

int order_city[100], order k;
FILE * tp;
bool xian = false;

void put(int x)
{
int 1;
if (x == 26 && xian) return;
if (x == 26)xian = true;
fprintf(tp, "\n\n");
for (i=1; 1 <jd_ProvinceNum[X]; i++)
(IR AT ) AT AR WX T AR (]
intu = order_City[x][i - 1], v =order_City[x][i];
double dis = is90[x][u][v] ? dist_In_Province[x][u][v] * 90 : dist In_Province[x][u][v] * 40;
fprintf(tp, "%-20.11f %-20s %-20.11f %-20.11f %-20s\n",
cost_In_Province[x][u][V], jd_ProvinceName[x][u].c_str(), dist In_Province[x][u][V], dis,
jd_ProvinceName[x][Vv].c_str());

printf("%d > %d f£%%: %21f K ATERE: %21f WM 4TEA B %21fkm \n",
order city[i - 1] + 1, order city[i] + 1, edge[order city[i - 1]][order city[i]], dist[order city[i -
1]][order_city[i]], distforder_city[i - 1]][order_city[i]] * 90);

//sum += cost_In_Province[x][order City[x][i - 1]][order_ City[x][i]];
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void put2()

{
string fname = "E:\\redep\Viff 78 4= TAEWEBINAE 4 55 A\ 23. it

tp = fopen(fname.c_str(), "w+");
fprintf(tp, " V¥ #E M [F] (K) ok 47 ZE I 18] (h)
ITHERBR(AH) TS X \n");
put(order_city[0]);
intu, v;
for (inti=1; i <order k;i++)
{
u = order_city[i- 1], v=order_city[i];
fprintf(tp, "\n%-20.11f %-20s %-20.11f %-20.11f %-20s\n",
dist Province To Province[u][v], provinceName[u].c str(), dist Province To Province[u][v] * 8,
dist Province To Province[u][v] * 720, provinceName[v].c_str());

put(v);
§
u=26,v=30;
fprintf(tp, "\n%-20.11f %-20s %-20.11f %-20.11f %-20s\n",

dist Province To Province[u][v], provinceName[u].c str(), dist Province To Province[u][v] * 8§,
dist Province To Province[u][v] * 720, provinceName[v].c_str());

put(v);
v=26,u=30;
fprintf(tp, "\n%-20.11f %-20s %-20.11f %-20.11f %-20s\n",

dist Province To Province[u][v], provinceName[u].c str(), dist Province To Province[u][v] * 8§,
dist Province To Province[u][v] * 720, provinceName[v].c_str());

put(v);
u=26,v=_9;
fprintf(tp, "\n%-20.11f %-20s %-20.11f %-20.11f %-20s\n",

dist Province To Province[u][v], provinceName[u].c str(), dist Province To Province[u][v] * 8§,
dist Province To Province[u][v] * 720, provinceName[v].c_str());

put(v);
v=26,u=09;
fprintf(tp, "\n%-20.11f %-20s %-20.11f %-20.11f %-20s\n",

dist Province To Province[u][v], provinceName[u].c str(), dist Province To Province[u][v] * 8§,
dist Province To Province[u][v] * 720, provinceName[v].c_str());

put(v);
fclose(tp);

void travle_Out_Province()

{

-77 -



int i;
bool s[N];
for (i=0; 1 <N;i++)s[i] = 0;

order k=0;
intv_cnt=1;
year = times = 0;
order city[order k++] = start;
while (v_cnt <N)
{
double time = 0;
int u = start, v=-1;
times++;
while (time < 15)
{
sfu]l =1;
for (i=0;1<N;it+)
{
if (u ==1 || i == start)continue;
double xxxx = province Time[start];
if  (s[i] && (v < 0 | cost_Province To Province[u][i] <
cost_Province To Province[u][V] | (cost_Province To Province[u][i] =
cost_Province To Province[u][V] &&
dist Province To Province[u][v]>dist Province To Province[u][i])))

{
v=1i;
§
§
if (v<0) break;
if (cost Province To Province[u][v] + dist Province To Province[start][v] + time <= 15)
{
time += cost Province To Province[u][v];
u=v;
order city[order k++]=v;
v_cntt;
v=-1;
§
else break;

h
if (u == start)break;
if (time <= 15)order_city[order k++] = start;

double sum =0, tm = 0;
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for (i=1;1<order k;it++)
{
fprintf("%d --> %d TE%%: %21f K ATZER[E: %21f ME ITEAHR: %21fkm \n",
order city[i - 1] + 1, order city[i] + 1, edge[order city[i - 1]][order city[i]], dist[order city[i -
1]][order_city[i]], dist[order_city[i - 1]][order_city[i]] * 90);

if (order_city[i] != start)

{
tm += cost_Province To_ Province[order city[i - 1]][order_city[i]];
sum += cost_Province To Province[order city[i - 1]][order_city[i]];
}
else
{
tm += dist_Province To Province[order city[i - 1]][order_city[i]];
if (tm >= 30){
year++; tm = 0,
H
sum += dist Province To Province[order city[i - 1]][order_city[i]];
}
H
}
void solve()
{
start = 26;
solve Province And Jd Info();
travle Out Province();
}
int main()
{
solve();
put2();
return O;
h

) ARAY
// ConsoleApplication3.cpp : & XA & MR I K.
/
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#include "stdafx.h"

#include<iostream>
#include<cstdio>
#include<map>
#include<list>
#include<set>
#include<algorithm>
#include<string>
#define LL __int64
#define INF 99999999
using namespace std;
const int N =31;

int start;

double zfq[N][N;// BEAN A A%

string zfm[N][N];/4F )55 % 5

double zfew[N][N][N]; /i & M u B v BEAE U L2 4%
double hf{N][N];//i &2 j & 75 BFE TR I ER
double hfp[N1;/i 44 ¥ 56 AT 75 ek

double gts[N][NT;//i & E j 4 JHFEMIES[H];
double gtq[N][NT;/fm8k i B2 j B AL
double fjq[N][NT;/ KL i F j KHLEE

FILE * fp;

double year,times;

string provinceName[N]; // 44 114 752

string jd_ProvinceName[N][N]; /44 )35 i 44 7402

double dist Province To Province[N][N]; /44 2 Z 8] I #E 25
double cost Province To Province[N][N]; /% Z [a] KA

double dist In Province[N][N][N]; //i & P 5 u 5 4 v [IUFE S
double cost_In_Province[N][N][N]; //i % N M3 & u Bl 58 v AR

double jd_Time[N][N]; /It i 481 j 5% m T e 22 IR []

double province Time[N]; //ii#5€ 1 74 FT A 5t sUFT 75 LB [A]

bool is9O[N][N][N]; // S A& %I 90km/h SR Hi (38 52 1% HE 40km/h FE
int order_City[N][NT; //4EA™ 4 % B 5 3 TR Mt 7

int jd_ProvinceNum[N]; /i & Z /b5
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1IN 715 B
void load Province And Jd Name Info()

{
int 1, j;
for (i=0;1<N;it+)
{
cin >> provinceNameli];
for (j = 0;j <30; j++)
{
cin >> jd_ProvinceName[i][j];
if (jd_ProvinceName[i][j] == "-1") break;
}
jd_ProvinceNum[i] = j;
H
}
k= 4:E
void load_distOfProvincelnfo()
{
int1, j, k;

118 = Z IRV B S
for (i=0;1<N;it+)

{
for j=0;j <=1i;j++)
{
scanf("%]lf", &dist Province To Province[i][j]);
dist Province To Province[j][i] = dist_Province To Province[i][j];
}
H
for i=0;1<N;it+)
{

for j=0;j <=1, j++)
{
scanf("%If", &fjq[i][j]);
if (i 1= && fjq[i][j] == 0)

{
fjqlil(j] = fiq[j1[i] = INF;
gts[j1[i] = gts[i][j] = 0;
gtq[jI[i] = gtq[i][j] = 0;
continue;

H

fiqli]0] *= 3;
fia0]0i] = fqlilll;
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gtq[j1[i] = gtq[i][j] = INF;
gts[j][i] = gts[i][j] = INF;

H

double shijian, gian;
intu, v;

int gttime;
scanf("%d",&gttime);

for (i=0; i < gttime; i++)

{
scanf("%d %d %lf %lf",&u,&v,&qian,&shijian);
gtq[u][v] = gtq[v][u] = qian * 3;
gts[u][v] = gts[v][u] = shijian;

}

for (i=0;1<N;it+)

{
for (j=0;j <N; j++)
{
if (i ==)){
hfli][j] = 0; continue;
H
if (gtq[i][j] < INE)hf[i][j] = gtq[i]j];
else if (fiq[i][j] < INF)hTi][j] = fiq[i][j];
else hf[i][j] = dist Province To Province[i][j];
H
H

/AFENE x SRR A u->v A
void get Cost(int x)

{
for (int i = 0; 1 < jd_ProvinceNum][x]; i++)
{
for (int j = 0; j <jd_ProvinceNum][x]; j++)
{
if (i==))
{

cost_In_Province[x][i][j] = 0;
zfew[x][1][j] = 0;

continue;
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if (dist_In_Province[x][i][j] <= 3)cost_In_Province[x][i][j] =jd_Time[x][j];

else if (dist In_Province[x][i][j] <= 5)cost_In_Province[x][i][j] = 0.5 + jd_Time[x][j];
else cost_In_Province[x][i][j] =1 +jd_Time[x][j];

zfew[x][1][j] += cost_In_Province[x][i][j] * zfq[x][j]*3;

}
H
int xx = 0;
}
/1% A8 P T R A R
void floyd(int x)
{
for (int k = 0; k <jd_ProvinceNum[x]; k++)
{
for (int 1= 0; 1 <jd_ProvinceNum[x]; i++)
{
for (int j = 0; j < jd_ProvinceNum|[x]; j++)
{
if (i ==k || j == k)continue;
if (dist_In_Province[x][i][j]>dist_In_Province[x][i][k] + dist_In Province[x][k][j])
dist_In Province[x][i][j] = dist_In_Province[x][i][k] + dist_In Province[x][k][j];
H
}
H
int xx = 0;
}
JIHEAR x BRI iR
void travle In_Province(int x)
{
int 1;
bool s[30];

for (i=0; 1< 30; i++)s[i] = 0;

intu = jd ProvinceNum[x] -1, v=-1;
int order kk = 0;

while (order kk <jd ProvinceNum[x])

{
order City[x][order kk++]=u;
s[u] = 1;
for (1 = 0; i< jd_ProvinceNum|[x] - 1; i++)
{

if (u ==1i)continue;
if (Is[i] && (v<O || zfew[x][u][i] < zfew[x][u][v] || (cost In Province[x][u][i] <
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cost_In_Province[x][u][v] && zfew[x][u][v]==zfew[x][u][i])))

order City[x][order kk++]=jd ProvinceNum([x] - 1;

double sum = 0;

double hfqqq = 0;

string fname = "E:\\redep\if 78 £ TAENEUE\A N 5% f(\" + provinceName[x] + ".txt";

FILE * tp;

tp = fopen(fname.c_str(),"w+");

fprintf(tp, "V #EIT [A] (X) H Ak Hh 1T ZE B 8] (h)
TERR(NR) i A X \n");

for (i=1;1<order kk;it++)
(IHR M TR, AT R, PR
int u = order_City[x][i- 1], v=order_City[x][i];
double dis = i1s90[x][u][v] ? dist_In_Province[x][u][v] * 90 : dist In_Province[x][u][v] * 40;
fprintf(tp, "%-20.11f %-20s %-20.11f %-20.11f %-20s\n",
cost_In_Province[x][u][V], jd_ProvinceName[x][u].c_str(), dist In_Province[x][u][V], dis,

jd_ProvinceName[x][Vv].c_str());

printf("%d > %d fE%: %21f K ATERE: %21 /N ATEAH: %21fkm \n",
order city[i - 1] + 1, order city[i] + 1, edge[order city[i - 1]][order city[i]], dist[order city[i -
1]][order_city[i]], dist[order_city[i - 1]][order_city[i]] * 90);

sum += cost_In_Province[x][order City[x][i - 1]][order City[x][i]];

hfqqq += zfew[x][order_City[x][i - 1]][order_ City[x][i]];

H

fclose(tp);

province Time[x] = sum;

hfp[x] = hfqqq + 300 * (sum - 1); //&J5— RAHME

void load And solve Jd Info()
{

inti, j, k;

for i=0;1<N;it+)

{

int Xxx;
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scanf("%d", &xxx);
for (j = 0; j <jd_ProvinceNum([i]; j++)

{
cin >> jd_Time[i][j];
cin >> zfm[i][j];
cin >> zfq[i][j];
}
for (j = 0; j <jd_ProvinceNum([i]; j++)
{
for (k = 0; k <jd_ProvinceNum([i]; k++)
{
scanf("%lf", &dist_In Province[i][j][k]);
if (dist_In_Province[i][j][k] <= 40)
{
zfew[i][j][k] = dist_In_Province[i][j][k] * 0.6;
dist_In_Province[i][j][k] /= 40;
1890[1][j][k] = false;
}
else
{
zfew[i][j][k] = dist_In_Province[i][j][k];
dist_In_Province[i][j][k] /= 90;
1890[1][j][k] = true;
}
H
}
int xx = 0;
floyd(i);

get Cost(i);
travle In_Province(i);

}

int xx = 0;

void floyd dist Province To Province()

{
for (int k = 0; k <N; k++)
{
for (inti=0; i <N; i++)
{
for (int j = 0; j <N; j++)
{

if (i ==k || j == k)continue;
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if  (dist Province To Province[i][j] >  dist Province To Province[i][k] +

dist Province To_ Province[k][j])
dist Province To Province[i][j] = dist_Province To Province[i][k] +

dist Province_To_ Province[k][j];

}

H
for (inti=0; i <N; i++)
{
for (intj = 0; j <N; j++)
{
if (i == j)continue;
cost Province To Province[i][j] = dist Province To Province[i][j] / (90 * 8) +
province Time[j];
dist Province To Province[i][j] /= (90 * 8);

}
H
}
void solve Province And Jd Info()
{
load Province And Jd Name Info();
load_distOfProvincelnfo();
load And solve Jd Info();
floyd dist Province To Province();
}

int order_city[100], order k;

FILE * tp;

bool xian = false;

bool feity[N];

void put(int x)

{
int 1;
if (x == start && xian) return;
if (x == start)xian = true;
fprintf(tp,"\n\n");
feity[x] = true;
for (i=1;i<jd ProvinceNum[x]; i++)

(IR AT R AT AR B T AR A
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ISR BAMRAT I 30 BRI A B B@I e, i s X B S XA e

I 18]
int u = order_City[x][i- 1], v = order_City[x][i];
double dis = is90[x][u][v] ? dist_In_Province[x][u][v] * 90 : dist In_Province[x][u][v] * 40;
double tit = (cost_In_Province[x][u][Vv] - jd_Time[x][V]) * &;
if (tit < 0.01)tit = 0.1*(rand()%3+1);
/[fprintf(tp,
"%-20.11f %-20s %-20.11f %-20.11f %-20s\n",cost_In_Province[x][u]
[v], jd_ProvinceName[x][u].c_str(), dist In_Province[x][u][Vv], dis, jd_ProvinceName[x][v].c_str());
fprintf(tp,
"\n%-20.11f %-20s %-20s %-20.11f %-20.11f %-20s\n",

cost In Province[x][u][v], " Fl % H 2 ", jd ProvinceName[x][u].c_str(), zfew[x][u][Vv], tit,
jd_ProvinceName[x][Vv].c_str());

[printf("%d --> %d TE%: %21f K ATERE: %21f N TN B %21fkm \n",
order city[i - 1] + 1, order city[i] + 1, edge[order city[i - 1]][order city[i]], dist[order city[i -
1]][order_city[i]], dist[order city[i - 1]][order_city[i]] * 90);

//fsum += cost_In_Province[x][order City[x][i - 1]][order_ City[x][i]];

H
}
double alltime = 0;
void ppt(int u,int v)
{
double shijian = 0, gian = 0;;
string way = "";
if (gts[u][v] < INF)
{
shijian = gts[u][v] / (60 * 8);
way = n%@in;
qian = gtq[u][v];
H
else if (fjq[u][v] < INF)
{
way = n"&*ﬂin;
qian = fjq[u][v];
shijian = dist_Province To Province[u][v] * 90 / 900;
H
else
{
shijian = dist Province To_ Province[u][V];
way = "ARIR 4",
H
//fprintf(tp, "VH FE I ] (OR) th & 77 0 H R Hi
W H P& IS ] (h) T 5 X \n");
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//
fprintf(tp,
"\n%-20.11f %-20s %-20s %-20.11f %-20.11f %-20s\n",
shijian + jd_Time[u][v], way.c_str(), provinceName[u].c_str(), gian, shijian * 8, provinceName[v].c_str());
alltime += hffu][v];
put(v);
}
void put2()
{

string fname = "E:\\23.txt";

tp = fopen(fname.c_str(), "w+");

fprintf(tp, "VH FEHS [H] (X) ok T R H K Hh
A (L) B I TH] (h) Ui 5 X \n");
/! fprintf(tp, "V #E ] (R) R
A7 ZE N 1H] () TERERE) T i X \n");

put(order_city[0]);

intu, v;

for (inti=1; i <order k;i++)

{

u =order_city[i- 1], v=order city[i];
ppt(u, v);

AR A T ANl AR E 2], NN Z ez 2558
for (inti=0; 1 <N; it++)
{

if (Meity[i])

{

fprintf(fp, "\n \n");
ppt(start, 1);

H
fprintf(tp, "n%.2If  %d\n", alltime, cjcjcjcjcjc);

fclose(tp);
h

void travle_Out_Province()

{
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int i;
bool s[N];
for (i=0; 1 <N;i++)s[i] = 0;

order k=0;
intv_cnt=1;
year =times= 0;
order city[order k++] = start;
while (v_cnt < N)
{
double time = 0;
double hfgian = 0;
intu = start, v=-1;
times++;
while (time < 15)
{
sfu] = 1
for (i=0;1<N;it+)
{
if (u==1 || i == start)continue;
double xxxx = province Time[start];
if (!s[i] && (cost_Province To Province[u][i] + dist Province To_ Province[start][i] +

time<=15))

if (v < 0 | hffu][i] < hffu][v] || (cost Province To Province[u][i]
<cost_Province To_ Province[u][v] && hf[u][v] == hf[u][i]))

V=1

H
if (v<0) break;
time += cost_Province To Province[u][Vv];
hfgian += hf[u][v];
u=v;
order city[order k++]=v;
v_cntt+;
v=-1;
}
if (u == start)break;
if (time <= 15)order city[order k++] = start;

/1IN
double sum =0, tm = 0;
for (i=1;i<order k;it+)
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[printf("%d > %d fEF: %21 K ATERE: %21f /N AT E AR %21fkm \n",
order city[i - 1] + 1, order city[i] + 1, edge[order city[i - 1]][order city[i]], dist[order city[i -
1]][order_city[i]], dist[order city[i - 1]][order_city[i]] * 90);

if (order_city[i] != start)

{
tm += cost_Province To_ Province[order city[i - 1]][order_city[i]];
sum += cost_Province To Province[order city[i - 1]][order_city[i]];
}
else
{
tm += dist_Province To Province[order city[i - 1]][order_city[i]];
if (tm >= 30){
year++; tm = 0; /75 B AL
H
sum += dist Province To Province[order city[i - 1]][order_city[i]];
}
H
}
void solve()
{
start=9;
memset(fcity,0,sizeof(fcity));
solve Province And Jd Info();
travle Out Province();
H
int main()
{
solve();
put2(); /% SR TT 5
return 0;
H

i) i =AY
// ConsoleApplication3.cpp : & XA & M A £
/

#include "stdafx.h"
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#include<iostream>
#include<cstdio>
#include<map>
#include<list>
#include<set>
#include<algorithm>
#include<string>
#define LL __int64
#define INF 99999999
using namespace std;
const int N =31;

int start;

double zfq[N][N];// BEAN A%

string zfm[N][N];/4F 55 % 5

double zfew[N][N][N]; /i & M u B v BEAEUF L2 4%
double hf{N][N];//i &2 j & 75 BEFE TR 1 ER
double hfp[N1;/i 44 ¥ 56 AT 75 Ik

double gts[N][NT;//i & E j 4 IHFEMIE[H];
double gtq[N][NT;/f=8k i B2 j B AR
double fiq[N][NTy/ KHLi B j KHLZE

FILE * fp;

double year,times;

string provinceName[N]; // 44 114 754

string jd_ProvinceName[N][N]; /44 )35 i 44 7402

double dist Province To Province[N][N]; /44 2 Z 8] I #E 25
double cost Province To Province[N][N]; /% Z [a] KA

double dist In Province[N][N][N]; /i & P 5 u 5 4 v [I9FE S
double cost_In_Province[N][N][N]; //i % N M3z & u 25t 8 v AR

double jd_Time[N][N]; /It i 481 j 5% m T e 22 IR []

double province Time[N]; //ii#5€ 1 74 FT A 5t sUFT 75 EE R B [A]

bool is90[N][N][N]; // S S 1% 90km/h SR Hi (38 52 1% HE 40km/h P
int order_City[N][NT; //4EA™ 4 % B 5 £ T Mt 7

int jd_ProvinceNum[N]; /i & Z /b5 4,

N4 515 B
void load Province And Jd Name Info()

-9] -



int 1, j;
for (i=0;1<N;it+)
{
cin >> provinceNameli];
for (j = 0; j <30; j++)
{
cin >> jd_ProvinceName[i][j];
if (jd_ProvinceName[i][j] == "-1") break;
}

jd_ProvinceNum[i] = j;

)= AEr)
void load_distOfProvincelnfo()
{

int1, j, k;

1148 2= Z A1 B RS

for (i=0;1<N;it+)

{
for (j=0;j <=1, j++)
{
scanf("%]lf", &dist Province To Province[i][j]);
dist Province To Province[j][i] = dist_Province To Province[i][j];
}
H
for (i=0;1<N;it+)
{

for (j=0;j <=1, j++)
{
scanf("%If", &fjq[i][j]);
if (i 1= && fjq[i][j] == 0)

{
fjqlil[j] = fiq[j1[i] = INF;
gts[j1[i] = gts[i][j] = 0;
gtq[j1i] = gtq[i][j] = 0;
continue;

H

fjq[il[G] *= 3;

a0 = Gqlilhl;
gtq[j][i] = gtq[i][j] = INF;
gts[j][i] = gts[i][j] = INF;

-92 -



H

double shijian, gian;
intu, v;

int gttime;
scanf("%d",&gttime);

for (i=0; i < gttime; i++)

{
scanf("%d %d %lf %lf",&u,&v,&qian,&shijian);
gtq[u][v] = gtq[v][u] = gian * 3;
gts[u][v] = gts[v][u] = shijian;

}

for (i=0;1<N;it+)

{
for j=0;j <N; j++)
{
if (i ==)){
hfli][j] = 0; continue;
H
if (gtq[i][j] < INE)hf[i][j] = gtq[i]j];
else if (fiq[i][j] < INF)hTi][j] = fiq[i][j];
else hf[i][j] = dist Province To_ Province[i][j];
}
H

IAFENE x SRR A u->v A
void get Cost(int x)

{
for (int i =0; 1 < jd_ProvinceNum][x]; i++)
{
for (int j = 0; j <jd_ProvinceNum][x]; j++)
{
if (i==))
{

cost_In_Province[x][i][j] = 0;
zfew[x][i][j] = 0;
continue;
H
if (dist_In_Province[x][i][j] <= 3)cost_In_Province[x][i][j] =jd_Time[x][j];
else if (dist In_Province[x][i][j] <= S)cost_In_Province[x][i][j] = 0.5 + jd_Time[x][j];

-93-



else cost_In_Province[x][i][j] =1 +jd_Time[x][j];
zfew[x][1][j] += cost_In_Province[x][i][j] * zfq[x][j]*3;

}
H
int xx = 0;
}
/1% 78 TR P 5 R AT e
void floyd(int x)
{
for (int k = 0; k < jd_ProvinceNum[x]; k++)
{
for (int 1= 0; 1 <jd_ProvinceNum[x]; i++)
{
for (int j = 0; j < jd_ProvinceNum|[x]; j++)
{
if (i ==k || j == k)continue;
if (dist_In_Province[x][i][j]>dist_In_Province[x][i][k] + dist_In Province[x][k][j])
dist_In Province[x][i][j] = dist In_Province[x][i][k] + dist_In Province[x][k][j];
H
}
H
int xx = 0;
}
JIHEAR x BRI
void travle In_Province(int x)
{
int i;
bool s[30];

for (i=0; 1< 30; i++)s[i] = 0;

intu=jd ProvinceNum[x] -1, v=-1;
int order kk = 0;

while (order kk <jd ProvinceNum[x])

{
order_City[x][order kk++]=u;
sfu] = 1;
for (1 = 0; i< jd_ProvinceNum|[x] - 1; i++)
{

if (u == 1i)continue;

if (Is[i] && (v<O || zfew[x][u][i] < zfew[x][u][v] || (cost In Province[x][u][i] <
cost_In_Province[x][u][v] && zfew[x][u][v]==zfew[x][u][i])))

{
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H
order City[x][order kk++]=jd ProvinceNum([x] - 1;
double sum = 0;
double hfqqq = 0;
string fname = "E:\\redep\if 78 £ TAEWEUE\A N 5% 2(\" + provinceName[x] + ".txt";
FILE * tp;
tp = fopen(fname.c_str(),"w+");
fprintf(tp, "VHFERT 7] () H 3 A7 G216 18] (h)
THERBEMRH) i B335 DX \n");
for (i=1;1<order kk;it++)
(IHR S TR, AT R, PR RIX
int u = order_City[x][i- 1], v=order_City[x][i];
double dis = i1s90[x][u][v] ? dist_In_Province[x][u][v] * 90 : dist In_Province[x][u][v] * 40;
fprintf(tp, "%-20.11f %-20s %-20.11f %-20.11f %-20s\n",
cost_In_Province[x][u][V], jd_ProvinceName[x][u].c_str(), dist In_Province[x][u][V], dis,

jd_ProvinceName[x][Vv].c_str());

[printf("%d --> %d TE%: %21f K ATERE: %21f N TN B %21fkm \n",
order city[i - 1] + 1, order city[i] + 1, edge[order city[i - 1]][order city[i]], dist[order city[i -
1]][order_city[i]], dist[order city[i - 1]][order_city[i]] * 90);

sum += cost_In_Province[x][order City[x][i - 1]][order City[x][i]];

hfqqq += zfew[x][order_City[x][i - 1]][order_City[x][i]];

H

fclose(tp);

province Time[x] = sum;

hfp[x] = hfqqq + 300 * (sum - 1); //&J5— RAHME

void load_And solve Jd Info()
{
int i, j, k;
for i=0;1<N;it+)
{
int XXx;
scanf("%d", &xxx);
for (j = 0; j <jd_ProvinceNum[i]; j++)
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cin >> jd_Time[i][j];
cin >> zfm[i][j];

cin >> zfq[i][j];
}
for (j = 0; j <jd_ProvinceNum([i]; j++)
{
for (k = 0; k <jd_ProvinceNum([i]; k++)
{
scanf("%lf", &dist_In Province[i][j][k]);
if (dist_In_Province[i][j][k] <= 40)
{
zfew[i][j][k] = dist_In_Province[i][j][k] * 0.6;
dist_In_Province[i][j][k] /= 40;
1890[1][j][k] = false;
}
else
{
zfew[i][j][k] = dist_In_Province[i][j][k]
dist_In_Province[i][j][k] /= 90;
1s90[1][j][k] = true;
}
H
}
int xx = 0;
floyd(i);

get_Cost(i);
travle In_Province(i);

}

int xx = 0;

void floyd dist Province To Province()
{
for (int k = 0; k <N; k++)
{
for (inti=0; i <N; i++)
{
for (int j = 0; j <N; j++)
{
if (i ==k || j == k)continue;
if  (dist_ Province To Province[i][j]
dist Province To Province[k][j])
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dist Province To Province[i][j] = dist Province To Province[i][k] +
dist Province_To Province[k][j];

}
}
H
for (inti=0; i <N; it++)
{

for (intj = 0; j <N; j++)
{
if (i == j)continue;
cost Province To Province[i][j] = dist Province To Province[i][j] / (90 * &) +
province Time[j];
dist Province To Province[i][j] /= (90 * 8);

}
H
}
void solve Province And Jd Info()
{
load Province And Jd Name Info();
load_distOfProvincelnfo();
load And solve Jd Info();
floyd dist Province To Province();
}

int order_city[100], order k;
FILE * tp;
bool xian = false;
bool feity[N];
void put(int x)
{
int 1;
if (x == start && xian) return;
if (x == start)xian = true;
fprintf(tp,"\n\n");
feity[x] = true;
for (i=1;1<jd ProvinceNum[x]; i++)
(IR ATAER ] AT AR, TSI, THAER ]
I RRBARLAT I B R, 280, B@mE . iSRS X
i [a]
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int u = order_City[x][i- 1], v=order_City[x][i];

double dis = is90[x][u][v] ? dist_In_Province[x][u][v] * 90 : dist In_Province[x][u][v] * 40;
double tit = (cost_In_Province[x][u][Vv] - jd_Time[x][V]) * &;

if (tit < 0.01)tit = 0.1*(rand()%3+1);

/[fprintf(tp,
"%-20.11f %-20s %-20.11f %-20.11f %-20s\n",cost_In_Province[x][u]
[v], jd_ProvinceName[x][u].c_str(), dist In_Province[x][u][Vv], dis, jd_ProvinceName[x][v].c_str());
fprintf(tp,
"\n%-20.11f %-20s %-20s %-20.11f %-20.11f %-20s\n",

cost In Province[x][u][v], " Fl % H 2 ", jd ProvinceName[x][u].c_str(), zfew[x][u][Vv], tit,
jd_ProvinceName[x][Vv].c_str());

fprintf("%d --> %d TE%%: %21f K ATER[E: %21f M ITEAHR: %21km \n",
order city[i - 1] + 1, order city[i] + 1, edge[order city[i - 1]][order city[i]], dist[order city[i -
1]][order_city[i]], dist[order city[i - 1]][order_city[i]] * 90);

//sum += cost_In_Province[x][order City[x][i - 1]][order_ City[x][i]];

§
}
double alltime = 0;
void ppt(int u,int v)
{

double shijian = 0, gian = 0;;

string way = "";
if (gts[u][v] < INF)

{
shijian = gts[u][v] / (60 * 8);
way = "=k
qian = gtq[u][v];
H
else if (figq[u][v] < INF)
{
way =" "KHL";
qian = fjq[u][v];
shijian = dist_Province To Province[u][v] * 90 / 900;
H
else
{
shijian = dist_Province To Province[u][v];
way = "ARVR 4",
H
//fprintf(tp, "H FE I [H] (OR) th & 77 0 H R Hi
W H P& I T ] (h) T 5 X \n");
/l
fprintf(tp,
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"\n%-20.11f %-20s %-20s %-20.11f %-20.11f

shijian + jd_Time[u][v], way.c_str(), provinceName[u].c_str(), gian, shijian * 8, provinceName[v

alltime += hffu][v];

put(v);
}
void put2()
{
string fname = "E:\\23.txt";
tp = fopen(fname.c_str(), "w+");
fprintf(tp, "V FE I 8] (R) th & 77
(D) HEIR I 1] (h) e B X \n");
I fprintf(tp, "7 ¥E B ] (K)
A7 ZE N 1E] () TERERNE) T s X \n");
put(order_city[0]);
intu, v;
for (inti=1;i<order k;i++)
{
u =order_city[i- 1], v=order city[i];
ppi(u, V);
H
AR A T ANl AR E 2], N2 ez 2558
for (inti=0; 1 <N; it++)
{
if (Mfeity[i])
{
fprintf(fp, "\n \n");
ppt(start, 1);
}
H
fprintf(tp, "n%.2lf  %d\n", alltime, cjcjcjcjcjc);
fclose(tp);
h
void travle_Out_Province()
{
int i;
bool s[N];
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for (i=0;1<N;i++)s[i] = 0;

order k=0;
intv_cnt=1;
year =times= 0;
order city[order k++] = start;
while (v_cnt <N)
{
double time = 0;
double hfgian = 0;
intu = start, v=-1;
times++;
while (time < 15)
{
sfu] = 1
for (i=0;1<N;it+)
{
if (u ==1 || i == start)continue;
double xxxx = province Time[start];
if (Is[i] && (cost_Province To Province[u][i] + dist Province To_ Province[start][i] +

time<=15))

if (v < 0 | hffu][i] < hffu][v] || (cost Province To Province[u][i]
<cost_Province To Province[u][v] && hf[u][v] == hf[u][i]))

V=1

H
if (v<0) break;
time += cost_Province To_ Province[u][V];
hfgian += hf[u][v];
u=v;
order city[order k++]=v;
v_cntt+;
v=-1;
}
if (u == start)break;
if (time <= 15)order_city[order k++] = start;

/1IN
double sum =0, tm = 0;
for (i=1;i<order k;it+)

{
Jprintf("%d —> %d 6. %2If K AFERE: %20f N ATEAE: %21km \n",
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order city[i - 1] + 1, order city[i] + 1, edge[order city[i - 1]][order city[i]], dist[order city[i -
1]][order_city[i]], dist[order city[i - 1]][order_city[i]] * 90);

if (order_city[i] != start)

{
tm += cost_Province To_ Province[order city[i - 1]][order_city[i]];
sum += cost_Province To Province[order city[i - 1]][order_city[i]];
}
else
{
tm += dist_Province To Province[order city[i - 1]][order_city[i]];
if (tm >= 30){
year++; tm = 0; /75 BAFEAL
H
sum += dist Province To Province[order city[i - 1]][order_city[i]];
}
H
}
void solve()
{
start=9;
memset(fcity,0,sizeof(fcity));
solve Province_ And Jd Info();
travle Out Province();
}
int main()
{
solve();
put2(); /% SR TT 5
return 0;
}
i) 7 Y A

// ConsoleApplication3.cpp : & XA & M A
/

#include "stdafx.h"
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#include<iostream>
#include<cstdio>
#include<map>
#include<list>
#include<set>
#include<algorithm>
#include<string>
#define LL __int64
#define INF 99999999
using namespace std;
const int N =31;

int start;

double zfq[N][N;// BEAN A H A%

string zfm[N][N];/4F )5 % 5

double zfew[N][N][N]; /i & M u B v BEAE U L2 4%
double hf{N][N];//i &2 j & 75 BFE TR 1 ER
double hfp[N1;//i 44 ¥ 56 AT 75 Ak

double gts[N][NT;//i & E j 44 JHFEMIES[H];
double gtq[N][NT;/fm8k i B2 j B AR
double fjq[N][N];/ &AL i 2 j CHLEE

FILE * fp;

double year,times;

string provinceName[N]; // 44 114 752

string jd_ProvinceName[N][N]; /44 )35 i 44 7402

double dist Province To Province[N][N]; /44 2 2 8] I #E 25
double cost Province To Province[N][N]; /% . [a] A

double dist In Province[N][N][N]; //i & P 5 u B35 4 v [I9FE S
double cost_In_Province[N][N][N]; //i % N M3 & u B 58 v AR

double jd_Time[N][N]; /It i 481 j 5% m T e 22 I []

double province_Time[N]; /il 5¢ 1 48 FT A St s T 75 22 1 I [A]

bool is9O[N][N][N]; // A& %M 90km/h SR Hi )34 52 1% HE 40km/h FE
int order_City[N][NT; //4EA™ 4 % B 5 £ T i Mt 7

int jd_ProvinceNum[N]; /i & Z /b5

/e 515 B
void load Province And Jd Name Info()
{

int i, j;
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for (i=0;1<N;it++)

{
cin >> provinceNameli];
for (j = 0;j <30; j++)
{
cin >> jd_ProvinceName[i][j];
if (jd_ProvinceName[i][j] == "-1") break;
}
jd_ProvinceNum[i] = j;
H
}
/N
void load_distOfProvincelnfo()
{
int1, j, k;

1A 2 2 TR B
for 1=0;1<N;it++)
{
for j=0;j<=1;j+1)
{
scanf("%lIf", &dist_Province To_Provincel[i][j]);
dist Province To_ Province[j][i] = dist Province To Province[i][j];

}
for i=0;1<N;it+)
{
for (j=0;j <=1, j++)
{
scanf("%If", &fjq[i][j]);
if (i = && fjq[i][j] == 0)
{
fjq[illj] = fiqlj1[i] = INF;
gts[j][i] = gts[i][j] = 0;
gtq[j][i] = gtqlil[j] = 0;
continue;
}
fiq[il[5] *= 3;
fiqli]i] = fqlilGls
gtq[j][i] = gtq[i][j] = INF;
gts[j][i] = gts[i][j] = INF;
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double shijian, gian;
intu, v;

int gttime;
scanf("%d",&gttime);

for (i=0; i < gttime; i++)

{
scanf("%d %d %lf %lf",&u,&v,&qian,&shijian);
gtq[u][v] = gtq[v][u] = gian * 3;
gts[u][v] = gts[v][u] = shijian;

H

for (i=0;1<N;it+)

{
for j =0;j <N; j++)
{
if (i ==)){
hfli][j] = 0; continue;
H
if (gtq[i][j] < INE)hfTi][j] = gtq[i][j];
else if (fjq[i][j] < INF)hfTi][j] = fjq[i][j];
else hf[i][j] = dist Province To_ Province[i][j];
}
H

/AFENE x SRR A u->v A
void get Cost(int x)

{
for (int i = 0; 1 < jd_ProvinceNum][x]; i++)
{
for (int j = 0; j <jd_ProvinceNum[x]; j++)
{
if (i==))
{

cost_In_Province[x][i][j] = 0;
zfew[x][i][j] = 0;
continue;
H
if (dist_In_Province[x][i][j] <= 3)cost_In_Province[x][i][j] =jd_Time[x][j];
else if (dist In_Province[x][i][j] <= S)cost_In_Province[x][i][j] = 0.5 + jd_Time[x][j];
else cost In Province[x][i][j]=1 +jd_Time[x][j];
zfew[x][1][j] += cost_In_Province[x][i][j] * zfq[x][j]*3;
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H
int xx = 0;
}
/1 48 TR PP 5 R AT f
void floyd(int x)
{
for (int k = 0; k <jd_ProvinceNum[x]; k++)
{
for (int 1= 0; 1 <jd_ProvinceNum[x]; i++)
{
for (int j = 0; j < jd_ProvinceNum|[x]; j++)
{
if (i ==k || j == k)continue;
if (dist_In_Province[x][i][j]>dist_In_Province[x][i][k] + dist_In Province[x][k][j])
dist_In Province[x][i][j] = dist_In_Province[x][i][k] + dist_In Province[x][k][j];
}
}
H
int xx = 0;
}
JHERE x HLIHI
void travle In_Province(int x)
{
int i;
bool s[30];

for (i=0;1<30; i++)s[i] = 0;

intu=jd ProvinceNum[x] -1, v=-1;
int order kk = 0;

while (order kk <jd ProvinceNum[x])

{
order City[x][order kk++]=u;
s[u] = 1;
for (i=0; i< jd_ProvinceNum[x] - 1; i++)
{

if (u == 1i)continue;

if (Is[i] && (v<O || zfew[x][u][i] < zfew[x][u][v] || (cost In Province[x][u][i] <
cost_In_Province[x][u][v] && zfew[x][u][v]==zfew[x][u][i])))

{

V=1
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v,
_1,

< & -
|

H
order City[x][order kk++]=jd ProvinceNum([x] - 1;
double sum = 0;
double hfqqq = 0;
string fname = "E:\\redep\if 78 £ TAEWEUSE A N 5% 2(\" + provinceName[x] + ".txt";
FILE * tp;
tp = fopen(fname.c_str(),"w+");
fprintf(tp, " V¥ #E M [F] (K) H 47 ZE I 7] (h)
ITHERR(AH) TS X \n");
for (i=1;1<order kk;it++)
(IHR M TR, AT R, PRRIX
int u = order_City[x][i- 1], v=order_City[x][i];
double dis = i1s90[x][u][v] ? dist_In_Province[x][u][v] * 90 : dist In_Province[x][u][v] * 40;
fprintf(tp, "%-20.11f %-20s %-20.11f %-20.11f %-20s\n",
cost_In_Province[x][u][V], jd_ProvinceName[x][u].c_str(), dist In_Province[x][u][V], dis,

jd_ProvinceName[x][Vv].c_str());

printf("%d --> %d TE%: %21f K ATERE: %21f PN TN R %21fkm \n",
order city[i - 1] + 1, order city[i] + 1, edge[order city[i - 1]][order city[i]], dist[order city[i -
1]][order_city[i]], dist[order city[i - 1]][order_city[i]] * 90);

sum += cost_In_Province[x][order City[x][i - 1]][order City[x][i]];

hfqqq += zfew[x][order_City[x][i - 1]][order_ City[x][i]];

H

fclose(tp);

province Time[x] = sum;

hfp[x] = hfqqq + 300 * (sum - 1); //HJ5 —RAHME

void load_And solve Jd Info()
{
inti, j, k;
for i=0;1<N;it+)
{
int XXx;
scanf("%d", &xxx);
for (j = 0; j <jd_ProvinceNum[i]; j++)
{

cin >> jd_Time[i][j];
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cin >> zfm[i][j];

cin >> zfq[i][j];
}
for (j = 0; j <jd_ProvinceNum([i]; j++)
{
for (k = 0; k <jd_ProvinceNum([i]; k++)
{
scanf("%lf", &dist_In Province[i][j][k]);
if (dist_In_Province[i][j][k] <= 40)
{
zfew[i][j][k] = dist_In_Province[i][j][k] * 0.6;
dist_In_Province[i][j][k] /= 40;
1890[1][j][k] = false;
}
else
{
zfew[i][j][k] = dist_In_Province[i][j][k];
dist _In_Province[i][j][k] /= 90;
1s90[1][j][k] = true;
}
H
}
int xx = 0;
floyd(i);

get_Cost(i);
travle In_Province(i);

}

int xx = 0;

void floyd dist Province To Province()
{
for (int k = 0; k < N; k++)
{
for (int1=0; 1 <Nj; i++)
{
for (int j = 0; j <N; j++)
{
if (i ==k || j == k)continue;
if  (dist Province To Province[i][j] >
dist Province To Province[k][j])
dist Province To Province[i][j] =

dist_Province To Province[k][j];
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}
H
for (inti=0; i <N;it++)
{

for (intj = 0; j <N; j++)
{
if (i == j)continue;
cost Province To Province[i][j] = dist Province To Province[i][j] / (90 * &) +
province Time[j];
dist Province To Province[i][j] /= (90 * 8);

}
H
}
void solve Province And Jd Info()
{
load Province And Jd Name Info();
load_distOfProvincelnfo();
load And solve Jd Info();
floyd dist Province To Province();
}

int order_city[100], order k;
FILE * tp;
bool xian = false;
bool feity[N];
void put(int x)
{
int 1;
if (x == start && xian) return;
if (x == start)xian = true;
fprintf(tp,"\n\n");
feity[x] = true;
for (i=1;i<jd ProvinceNum[x]; i++)
(IR ATAER ] AT AR, TSI, THAER ]
I RRBARLAT I B R AM. 280, B@mE . Wi s, AR X
it [a]
intu = order_City[x][i - 1], v = order_City[x][i];
double dis = is90[x][u][v] ? dist_In_Province[x][u][v] * 90 : dist In_Province[x][u][v] * 40;
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double tit = (cost_In_Province[x][u][Vv] - jd_Time[x][V]) * &;
if (tit < 0.01)tit = 0.1*(rand()%3+1);

/[fprintf(tp,
"%-20.11f %-20s %-20.11f %-20.11f %-20s\n",cost_In_Province[x][u]
[v], jd_ProvinceName[x][u].c_str(), dist In_Province[x][u][Vv], dis, jd_ProvinceName[x][v].c_str());
fprintf(tp,
"\n%-20.11f %-20s %-20s %-20.11f %-20.11f %-20s\n",

cost In Province[x][u][v], " Fl % H 2 ", jd ProvinceName[x][u].c_str(), zfew[x][u][Vv], tit,
jd_ProvinceName[x][Vv].c_str());

fprintf("%d --> %d TE%%: %21f K ATER[E: %21f ME ITEAHR: %21fkm \n",
order city[i - 1] + 1, order city[i] + 1, edge[order city[i - 1]][order city[i]], dist[order city[i -
1]][order_city[i]], dist[order_city[i - 1]][order_city[i]] * 90);

//sum += cost_In_Province[x][order City[x][i - 1]][order_City[x][i]];

}
double alltime = 0;
void ppt(int u,int v)
{
double shijian = 0, gian = 0;;
string way = "";
if (gts[u][v] < INF)
{
shijian = gts[u][v] / (60 * 8);
way = n%[g}lin;
qian = gtq[u][v];
H
else if (fjq[u][v] < INF)
{
way = n"&*ﬂin;
qian = fjq[u][v];
shijian = dist_Province To Province[u][v] * 90 / 900;

else

shijian = dist_Province To Province[u][v];
way = "AEVR 4",
H
//fprintf(tp, "H FE N ] (R) th & 77 0 H R Hi
W H P& I T ] (h) T 5 X \n");
//
fprintf(tp,
"\n%-20.11f %-20s %-20s %-20.11f %-20.11f %-20s\n",
shijian + jd_Time[u][v], way.c_str(), provinceName[u].c_str(), qian, shijian * 8, provinceName[v].c_str());
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alltime += hflu][v];
put(v);

}

void put2()

{

string fname = "E:\\23.txt";

tp = fopen(fname.c_str(), "w+");

fprintf(tp, "V #& I 8] (R) th & 77 X th R Hh
PHH(On) &I I [H] (h) Ui 55 X \n");
// fprintf(tp, "V #E N [A] (R) R
17 ZE I [ (h) ITHEEBR(RHR) i 5 X \n");

put(order_city[0]);

intu, v;

for (inti=1; i <order k;i++)

{

u =order_city[i- 1], v=order city[i];
ppt(u, v);

AR A 7 AN AR E 2], N2 ez 25 5E
for (inti=0; i <N; it++)
{

if (Meity[i])

{

fprintf(fp, "\n \n");
ppt(start, 1);

H
fprintf(tp, "n%.2If  %d\n", alltime, cjcjcjcjcjc);

fclose(tp);
h

void travle_Out_Province()

{
int i;
bool s[N];
for (1=0; i <N; i++)s[i] = 0;

- 110 -



order k=0;
intv_cnt=1;
year =times= 0;
order city[order k++] = start;
while (v_cnt <N)
{
double time = 0;
double hfgian = 0;
intu = start, v=-1;
times++;
while (time < 15)
{
sfu] = 1;
for (i=0;1<N;it+)
{
if (u ==1 || i == start)continue;
double xxxx = province Time[start];
if (1s[i] && (cost_Province To Province[u][i] + dist Province To Province[start][i] +

time<=15))

if (v < 0 | hffu][i] < hffu][v] || (cost Province To Province[u][i]
<cost_Province To Province[u][v] && hf[u][v] == hf[u][i]))

V=1

H
if (v<0) break;
time += cost_Province To Province[u][V];
hfgian += hf[u][v];
u=v;
order city[order k++]=v;
v_cntt+;
v=-1;
}
if (u == start)break;
if (time <= 15)order_city[order k++] = start;

/1AL
double sum = 0, tm = 0;
for (i=1;1i<order k;it+)
{
fprintf("%d > %d {E%%: %21f K ATERE: %21f M ITEAR: %21fkm \n",
order city[i - 1] + 1, order city[i] + 1, edge[order city[i - 1]][order city[i]], dist[order city[i -
1]][order_city[i]], distforder_city[i - 1]][order_city[i]] * 90);
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if (order_city[i] != start)

{
tm += cost_Province To_ Province[order city[i - 1]][order_city[i]];
sum += cost_Province To Province[order city[i - 1]][order_city[i]];
}
else
{
tm += dist_Province To Province[order city[i - 1]][order_city[i]];
if (tm >= 30){
year++; tm = 0; /75 BAFEAL
H
sum += dist Province To Province[order city[i - 1]][order_city[i]];
}
H
}
void solve()
{
start=9;
memset(fcity,0,sizeof(fcity));
solve Province_ And Jd Info();
travle Out Province();
}
int main()
{
solve();
put2(); /% SR TT 5
return 0;
H
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